BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA) EXAMINATION DEPARTMENT

Date: JULY-2018

Reference: EXAM / JPP / BITIC / NOIDA / BAM-SUMMER / (SS/18) / 2017-2018

By the order of Examination committee, the following is the result of BAM - SUMMER Semester held in the month of JUNE-2018

SESSION :	2017-2018 CLASS : BAM		В	RANCH	: CC	MPUTE	R SCIE	NCE				SEMES	STER /	TRIM	ESTE	R :	SUM	MER	MON	ITH OF EXA	M : JU	NE-2018
ROLL NO	NAME	U L	BAM:	114(3)	BAM	103(4)	BAM	[401(4) -	BAM5	520(2)	BAM	520(4)	-		-		-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
DAM/4521/11	ANIBDAN ADIHKARY	U	-	-	-	-	B+	28.0	-	-	-	-	-	-	-	-	-	-	28.0	4.0	7.00	
BAM/4521/11	ANIRBAN ADHIKARY	L	-	-	-	-	-	-	-	-	-	-	-	-		-	-	-	28.0	4.0	7.00	-
DAM/4521/12	VISHAKHA RAJ	U	-	-	F	0.0	-	-	-	-	-	-	-	-	-	-	-	-	00.0	4.0	0.00	
BAM/4521/12	VISHAKHA RAJ	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	00.0	4.0	0.00	-

BAM114(3)	: MULTIMEDIA-I	-	:
BAM103(4)	: PRINCIPLES OF ANIMATION	-	:
BAM401(4)	: PRODUCTION FOR ANIMATION	-	:
BAM520(2)	: PRESENTATION	-	:
BAM620(4)	: DEGREE SHOWCASE PROJECT	-	:
-	:	-	:
-	:	-	:
-	:	-	

Controller of Examinations

Disclaimer

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA)

EXAMINATION DEPARTMENT

Date: JULY-2018

Reference: EXAM / JPP / BITIC / NOIDA / BAM-SUMMER / (SS/18) 2017-2018

By the order of Examination committee, the following is the result of BAM - SUMMER Semester held in the month of JUNE-2018

SESSIC	ON : 2017-2018	CLASS :	BAN	И		BRAI	NCH	: MAI	NAGEM	ENT					SEM	/IESTE	R/TRIM	1EST	ER	: SUMMER			MONTH OF EXAM : JUNE-2018
ROLL NO	NAME		U L	BAM1	1302(3)	BAM1	401(3) -	BAM1	1402(3) -	BAM ²	406(3) -	BAM ²	1408(3)	BAM1	1410(3) -	BAM [*]	1606(3)	-	-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
				GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BAM/4509/15	AKSHIT MADAAN		U	-	-				-			-			-	Α	24.0	-	<u> -</u>	24.0	3.0	8.00	_
			L	-	-		-	<u> </u>	-		-	-		<u> </u>	-	-	<u> </u>		<u> -</u>				
BAM/4512/15	AYUSH KUMAR SHARMA		U	-	-		-		-	F*	0.0	F*	0.0	F*	0.0	<u> - </u>		<u>-</u>	<u> -</u>	0.0	9.0	0	F* IN : BAM1406, BAM1408, BAM1410
			L	-	-		-	<u> </u>	-			-		<u> </u>	-	-	<u> </u>	-	<u> -</u>				
BAM/4513/15	SAUMY SHUKLA		U	-	-	-	-	B+	21.0	B+	21.0	В	18.0	В	18.0	-			<u> - </u>	78.0	12.0	6.50	_
			니	-	-	-	-	-	-	-	-	-	-		-	-		-	<u> - </u>				
BAM/4515/15	RISHI AGARWAL		U	-	-	-	-	-	-	B+	21.0	-	-	-	-	-			<u> </u> -	21.0	3.0	7.00	_
			L	-	-		-		-			-			-	-			<u> - </u>				
BAM/4518/15	ABHIJEET SETH		U	Ex	30.0	-	-	-	-		-	-		A+	27.0	Α	24.0	-	<u> -</u>	81.0	9.0	9.00	_
27 11111 10 10 10	7.5022.7.02		L	-	-	-	-		-		-	-	-		-	-			<u> </u> -	0.10	0.0		
BAM/4530/15	HARDIK DIJA		U	-	-	F	0.0	В	18.0	В	18.0	-	-	-	-	-		-	<u> </u> -	36.0	9.0	4.00	_
B, ((V), 4000/10			L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	_	<u> </u> -	55.0	0.0	7.00	
BAM/4531/15	TOSHIT TUSHAR		U	A+	27.0	-	-	_	-	-	-	-	-	_	-	-	-	-	-	27.0	3.0	9.00	_
DAW/4001/10	TOOTH TOOTAN		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	21.0	5.0	3.00	_

Controller of Examinations

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA) EXAMINATION DEPARTMENT

Date: JULY-2018

Reference: EXAM / JPP / BITIC / NOIDA / BAM-SHORT / (SS/18) / 2017-2018

By the order of Examination committee, the following is the result of BAM - SHORT Semester held in the month of MAY-2018

SESSION :	2017-2018 CLASS : BAM		F	BRANCH	: CON	MPUTER S	SCIENCE	3				SE	MEST	ER/T	RIME	STER	: S	SHORT	MOI	NTH OF EXA	M : M	AY-2018
ROLL NO	NAME	U L	BAM GR.	1203(3) - PT.	BAM:	1204(3) - PT.	BAM:	1208(3) - PT.	GR.	PT.	GR.	PT.	GR.	- - PT.	GR.	PT.	GR.	-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
BAM/4526/16	PIYUSH BHARTI	U L	B -	18.0	A -	24.0	B -	18.0	-	-	-	-	-	-	-	-	-	-	60.0	9.0	6.67	-

BAM1203(3) BAM1204(3)	: PRINCIPLES OF ANIMATION : MULTIMEDIA TECHNOLOGY	-	:
BAM1208(3)	: FILM APPRECIATION	-	:
-	:	-	:
-	:	-	:
-	:	-	:
-	:	-	:
-	:	-	

Controller of Examinations

Disclaimer

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA) EXAMINATION DEPARTMENT

Date: JULY-2018

Reference: EXAM / JPP / BITIC / NOIDA / BAM-SHORT / (SS/18) / 2017-2018

By the order of Examination committee, the following is the result of BAM - SHORT Semester held in the month of MAY-2018

SESSION	: 2017-2018 CLASS : BAN	Л		BRANG	CH :	COMPUT	ΓER SCI	ENCE				SEM	ESTER /	TRIME	STER	: :	SHOR	Т	MONT	H OF EXAM	: MA	Y-2018
ROLL NO	NAME	U L	BAM1	1101(2)	BAM	1102(2)	BAM	1103(2)	BAM	1104(2)	BAM1	1105(2)	BAM	1107(2)		-		-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
DAM/4500/17	SHAURYAE MEDIRATTA	U	-	-	A	16.0	-	-	A	16.0	-	-	A+	18.0	-	-	-	-	50.0	6.0	8.33	
BAM/4309/17	SHAUR I AE MEDIRATTA	L	-	-	-	-	-	-	-	-	_	-	-	-	-	-	-	-	30.0	6.0	8.33	-
DAM/4522/17	ASHHAR ADNAN	U	A+	18.0	A	16.0	A	16.0	-	-	B+	14.0	-	-	-	-	-	-	64.0	9.0	8.00	
BAW/4533/1/	ASHHAR ADINAN	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	64.0	8.0	8.00	-

BAM1101(2)	: HISTORY OF ANIMATION	-	:
BAM1102(2)	: COMPUTER LAB ON MULTIMEDIA	-	:
BAM1103(2)	: INTRODUCTION TO VISUAL STUDIES	-	:
BAM1104(2)	: INTRODUCTION TO 3D	-	:
BAM1105(2)	: COMMUNICATION THEORIES	-	:
BAM1107(2)	: INTRODUTION TO MULTIMEDIA	-	:
-	:	-	:
-	:	-	

Controller of Examinations

Disclaimer

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA)

EXAMINATION DEPARTMENT

Date: JULY-2018

Reference: EXAM / JPP / BITIC / NOIDA / BAM-SUMMER / (SS/18) 2017-2018

By the order of Examination committee, the following is the result of BAM - SUMMER Semester held in the month of JUNE-2018

	-																					
SESSION :	: 2017-2018 CLASS : BAM			BRANCH	: CO	MPUTEI	R SCIENC	Œ				SEME	STER	/ TRIN	/IESTE	R :	SUMN	ИER	MC	NTH OF EXA	M : JUI	NE-2018
ROLL NO	NAME	U L	BAM	1114(3)	BAM	103(4)	BAM ²	101(4)	BAM	520(2)	BAM	[620(4) -	-		-		-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BAM/4515/13	PRANSH MOHAN	U	B+	21.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	21.0	3.0	7.00	
BAM/4313/13	PRANSH MOHAN	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	21.0	3.0	7.00	_
DAM/4525/12	CACHINI CHARMA	U	-	-	-	-	-	-	В	12.0	В	24.0	-	-	-	-	-	-	26.0	(0	(00	
BAM/4525/13	SACHIN SHARMA	1							=			==		=	=	一		$\overline{}$	36.0	6.0	6.00	-

BAM114(3)	: MULTIMEDIA-I	<u>-</u>	:
BAM103(4)	: PRINCIPLES OF ANIMATION	-	:
BAM401(4)	: PRODUCTION FOR ANIMATION	-	:
BAM520(2)	: PRESENTATION	-	:
BAM620(4)	: DEGREE SHOWCASE PROJECT	-	:
-	:	-	:
-	:	-	:
_		_	

Controller of Examinations

Disclaimer

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA)

EXAMINATION DEPARTMENT

SESSION: 2017-2018

Reference: EXAM / JPP / BITIC / NOIDA / BAM-SUMMER / (SS/18) 2017-2018

By the order of Examination committee, the following is the result of BAM - SUMMER Semester held in the month of JUNE-2018

CLASS : BAM

f B	BAM - SUMMER Sem	ester held in the m	onth of JUNE-2018	3		Date : JU	ILY-2018				
	BRANCH	: COMPUTER	SCIENCE		SEM	MESTER / TR	IMESTER	: SUMMER	MO	ONTH OF EXA	M
	U BAM111(4)	BAM416(3)	BAM418(3)	BAM724(4)	-	-	-	-			

	ROLL NO	NAME	L	-	()		-		-		-		-	_		_		-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
				GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
	BAM/4504/14	RITIKA VERMA	U	F	0.0	В	18.0	С	15.0	-	-	-	-	-	-	-	-	-	-	33.0	10.0	3.30	_
L	DAM/4304/14	KITIKA VEKWA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	33.0	10.0	3.30	-
	BAM/4511/14	SEBASTIAN FRANCIS	U	-	-	-	-	-	-	A	32.0	-	-	-	-	-	_	-	-	32.0	4.0	8.00	
	BAM/4311/14	SEBASTIAN FRANCIS	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	32.0	4.0	8.00	-
	BAM/4514/14	VIVEK AAKASH	U	-	-	-	-	-	-	A+	36.0	-	-	-	-		_	-	-	36.0	4.0	9.00	
	BAM/4314/14	VIVER AARASH	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	30.0	4.0	9.00	-

BAM111(4)	: ANIMATION-I	-	:
BAM416(3)	: SOUND DESIGN	-	:
BAM418(3)	: 3D CHARACTER RIGGING SKINNING & ANIMATION	-	:
BAM724(4)	: STORY BOARDING	-	:
-	:	-	:
-	:	-	:
-	:	-	:
_		_	

Controller of Examinations

JUNE-2018

Disclaimer

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.